
MOTORIZED 2*2/2.5*2.5/2*3/2*4/3*3/3*4m



Plastic

hammer



Item

Carton

1/4

Carton

2/4

3B-01/

01B

3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-18 1

3B-19 8

3B-20 22

3B-21 3B-2216 24

3B-23 10

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

2 3B-09 2

Item

Qty

Item

Qty

  2×2m

2*2-1

3B-31 1

3B-49B 3

3B-48 10 3B-48B 3 3B-49 10

3B-20B 4

3B-30 1

3B-51 104 3B-57 3

3B-58 1 3B-59 1 3B-60 1

3B-06 10

3B-07 3

3B-46a 1

3B-08A/

B

3B-46b 3



Item

3B-01

Drawings

3

Qty

1

1

2

10

2

3B-02

3B-03

3B-04

3B-06

3B-09

2*2-2

3

3B-07

Female

3B-01B

1

13B-08B

13B-08A

8

6

.
4

2

8

0

.
5

8

Male

Male



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

22+2

8

24+2

Item

Qty

10+2

3B-22

Drawings

3B-23

3B-24 1

M8*20

2*2-3

10

104+4

10

3B-48

3B-49

3B-51

1

3B-46a

M4.2*25

M4.2*19

M5.5*60

M10*80

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+

5-12-M4

3B-20B 4+2

5-16-M4

33B-48B

3

3B-49B

3B-57

3B-58

3B-59

3

1

1

3B-60

1

M5*20

3

3B-46b

M4.2*19/8pcs



2*2-4

1996

1
9

9
6

1996

1
9

9
6

120 1756 120

1
2

0

1
7

5
6

1
2

0

1

9

9

6
1

9

9

6



Before installing the bottom expansion screws,

please be sure to correct the frame size

2*2-5

2

8

1

7

.

7

9

9

7

2

8

1

7

.

7

9

9

7



Plastic

hammer



Item

Carton

1/3

Carton

2/3

3B-01/

01B

3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-18 1

3B-19 8

3B-20 30

3B-21 3B-2216 24

3B-23 10

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

2 3B-09 2

Item

Qty

Item

Qty

  2.5×2.5m

2.5*2.5-1

3B-31 1

3B-49B 3

3B-48 14 3B-48B 3 3B-49 14

3B-20B 4

3B-30 1

3B-51 136 3B-57 3

3B-58 1 3B-59 1 3B-60 1

3B-06 14 3B-07 3

Carton

3/3

3B-46a 1

3B-08A/

B

3B-46b 3



Item

3B-01

Drawings

3

Qty

1

1

2

14

2

3B-02

3B-03

3B-04

3B-06

3B-09

2.5*2.5-2

3

3B-07

Female

3B-01B

1

13B-08B

13B-08A

9

0

.
4

2

8

4

.
4

8

Male

Male



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

30+2

8

24+2

Item

Qty

10+2

3B-22

Drawings

3B-23

3B-24 1

M8*20

2.5*2.5-3

14

136+4

14

3B-48

3B-49

3B-51

1

3B-46a

M4.2*25

M4.2*19

M5.5*60

M10*80

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+

5-12-M4

3B-20B 4+2

5-16-M4

33B-48B

3

3B-49B

3B-57

3B-58

3B-59

3

1

1

3B-60

1

M5*20

3

3B-46b

M4.2*19/8pcs

3B-61



2.5*2.5-4

2560

2
5

6
0

2560

2
5

6
0

120 2320 120

1
2

0

2
3

2
0

1
2

0

1

9

9

6
1

9

9

6



Before installing the bottom expansion screws,

please be sure to correct the frame size

2.5*2.5-5



Plastic

hammer



Item

Carton

1/4

Carton

2/4

3B-01/

01B

3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-18 1

3B-19 8

3B-20 34

3B-21 3B-2216 24

3B-23 10

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

2 3B-09 2

Item

Qty

Item

Qty

  2×3m

2*3-1

3B-31 1

3B-49B 4

3B-48 15 3B-48B 4 3B-49 15

3B-20B 4

3B-30 1

3B-51 152 3B-57 4

3B-58 1 3B-59 1 3B-60 1

3B-06

3B-06 1

3B-07 4

Carton

3/4

14

3B-46a 1

3B-08A/

B

3B-46b 3



Item

3B-01

Drawings

3

Qty

1

1

2

15

2

3B-02

3B-03

3B-04

3B-06

3B-09

2*3-2

4

3B-07

Female

3B-01B

1

13B-08B

13B-08A

9

3

.
4

2

8

7

.
5

8

Male

Male



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

34+2

8

24+2

Item

Qty

10+2

3B-22

Drawings

3B-23

3B-24 1

M8*20

2*3-3

15

152+4

15

3B-48

3B-49

3B-51

1

3B-46a

M4.2*25

M4.2*19

M5.5*60

M10*80

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+

5-12-M4

3B-20B 4+2

5-16-M4

43B-48B

4

3B-49B

3B-57

3B-58

3B-59

4

1

1

3B-60

1

M5*20

3

3B-46b

M4.2*19/8pcs



2*3-4

1996

2
9

0
4

1996

2
9

0
4

120 1756 120

1
2

0

2
6

6
4

1
2

0

1

9

9

6
1

9

9

6



Before installing the bottom expansion screws,

please be sure to correct the frame size

2*3-5



Plastic

hammer



Item

Carton

1/4

Carton

2/4

3B-01/

01B

3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-18 1

3B-19 8

3B-20 50

3B-21 3B-2216 24

3B-23 10

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

2 3B-09 2

Item

Qty

Item

Qty

  2×4m

2*4-1

3B-31 1

3B-49B 4

3B-48 23 3B-48B 4 3B-49 23

3B-20B 4

3B-30 1

3B-51 216 3B-57 4

3B-58 1 3B-59 1 3B-60 1

3B-06 3B-07 4

Carton

3/4

14

3B-46a 1

3B-08A/

B

3B-46b 3

Carton

4/4

3B-06 9



Item

3B-01

Drawings

3

Qty

1

1

2

23

2

3B-02

3B-03

3B-04

3B-06

3B-09

2*4-2

4

3B-07

Female

3B-01B

1

13B-08B

13B-08A

8

5

8

0

Male

Male



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

50+2

8

24+2

Item

Qty

10+2

3B-22

Drawings

3B-23

3B-24 1

M8*20

2*4-3

23

216+4

23

3B-48

3B-49

3B-51

1

3B-46a

M4.2*25

M4.2*19

M5.5*60

M10*80

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+

5-12-M4

3B-20B 4+2

5-16-M4

43B-48B

4

3B-49B

3B-57

3B-58

3B-59

4

1

1

3B-60

1

M5*20

3

3B-46b

M4.2*19/8pcs



2*4-4

1996

3
9

4
4

1996

3
9

4
4

120 1756 120

1
2

0

3
7

0
4

1
2

0

1

9

9

6
1

9

9

6



Before installing the bottom expansion screws,

please be sure to correct the frame size

2*4-5

4

4

1

5

.

5

8

8

5

4

4

1

5

.

5

8

8

5



Plastic

hammer



Item

Carton

1/3

Carton

2/3

3B-01/

01B

3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-18 1

3B-19 8

3B-20 34

3B-21 3B-2216 24

3B-23 10

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

3B-08A/

B

2 3B-09 2

Item

Qty

Item

Qty

  3×3m

3B-06 1

3*3-1

3B-31 1

3B-49B 4

3B-48 15 3B-48B 4 3B-49 15

3B-20B 4

3B-30 1

3B-51 152 3B-57 4

3B-58 1 3B-59 1 3B-60 1

3B-06 14 3B-07 4

Carton

3/3

3B-46a 1 3B-46b 3



Item

3B-01

Drawings

3

Qty

1

1

2

15

2

3B-02

3B-03

3B-04

3B-06

3B-09

3*3-2

4

3B-07

Female

3B-01B

1

13B-08B

13B-08A

9

4

8

8

Male

Male



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

34+2

8

24+2

Item

Qty

10+2

3B-22

Drawings

3B-23

3B-24 1

M8*20

3*3-3

15

152+4

15

3B-48

3B-49

3B-51

1

3B-46a

M4.2*25

M4.2*19

M5.5*60

M10*80

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+

5-12-M4

3B-20B 4+2

5-16-M4

43B-48B

4

3B-49B

3B-57

3B-58

3B-59

4

1

1

3B-60

1

M5*20

3B-46b

3

M4.2*19/8pcs



3*3-4

2904

2
9

0
4

2904

2
9

0
4

120 2664 120

1
2

0

2
6

6
4

1
2

0

 3×3m

2

9

0

42

9

0

4



3*3-5

2
9

0
4

2904

4

1

0

2

4

1

0

2

Before installing the bottom expansion screws, please be sure to

correct the frame size



Plastic

hammer



Item

Carton

1/4

Carton

2/4

3B-01/

01B

3B-12

Qty

4 4

3B-13 4 3B-14 1 3B-18 1

3B-19 8

3B-20 50

3B-21 3B-2216 24

3B-23 10

3B-24 1

3B-11 4

3B-02 1 3B-03 1 3B-04 2

3B-08A/

B

2 3B-09 2

Item

Qty

Item

Qty

  3×4m

3*4-1

3B-31 1

3B-49B 4

3B-48 23 3B-48B 4 3B-49 23

3B-20B 4

3B-30 1

3B-51 216 3B-57 4

3B-58 1 3B-59 1 3B-60 1

3B-06 14 3B-07 4

Carton

3/4

3B-46a 1 3B-46b 3

3B-06 9

Carton

3/4



Item

3B-01

Drawings

3

Qty

1

1

2

23

2

3B-02

3B-03

3B-04

3B-06

3B-09

3*4-2

4

3B-07

Female

3B-01B

1

13B-08B

13B-08A

8

6

8

0

Male

Male



Item

Qty

4

43B-11

Drawings

3B-12

3B-13

3B-14

4

1

3B-18

3B-20

1

3B-19

3B-21 16

50+2

8

24+2

Item

Qty

10+2

3B-22

Drawings

3B-23

3B-24 1

M8*20

3*4-3

23

216+4

23

3B-48

3B-49

3B-51

1

3B-46a

M4.2*25

M4.2*19

M5.5*60

M10*80

OPEN

STOP

CLOSE

3B-30
1

3B-31
1

+

5-12-M4

3B-20B 4+2

5-16-M4

43B-48B

4

3B-49B

3B-57

3B-58

3B-59

4

1

1

3B-60

1

M5*20

3

3B-46b

M4.2*19/8pcs



3*4-4

2904

2
9

0
4

2904

2
9

0
4

120 2664 120

1
2

0

2
6

6
4

1
2

0

 3×4m

2

9

0

42

9

0

4



3*4-5

Before installing the bottom expansion screws,

 please be sure to correct the frame size



3B-01/

01B

3B-13

3B-22

4

4

24

b

3B-01

3B-13

3B-22

3B-01

3B-13

3B-22

c

x4

1

M5.5*60

3B-46

3B-01

a

3B-46b

1

Before installing the base

plate,  please connect the

wires first

During the installation process, if you encounter any

uncertainties, please refer to the installation instructions on

the product page of the website.

3B-46a

3

Post containing electrical

wires, please use base

plate 3B-46A.



2

b

3B-04

3B-18

3B-04

3B-04

3B-18
1

2

a

x2



3

3B-18

3B-03
1

1

3B-02

3B-18

3B-02

a

b

3B-02
1

3B-02

3B-03

Male

Male

Male

Male

3B-01

3B-01

3B-01

3B-01B



3B-21
16

3B-21

a

4

3B-21

b



4

8

3B-11

3B-19

5

3B-11

3B-19

a

b

C
3B-24

3B-24
1

3B-11

3B-19



3B-58

3B-58
1

6

3B-03



3B-12
4

3B-12

a

b

3B-24
1

3B-24

3B-12

7



8

a

3B-51

b

3B-06
3B-48

3B-48

3B-06

3B-51

3B-51

3B-07
3B-48B

3B-48B

3B-07

c

d

3B-48

3B-48B



9

a

b

3B-49

3B-06

3B-51

3B-49

3B-51

c

d

3B-50

3B-07

3B-51

3B-49B

3B-49

3B-49B



3B-06

10

3B-493B-49

b

3B-07

3B-07

a

Connecting the male and

female connectors, then

put them into the holes in

the main beam, and finally

insert the plugs.

3B-57



3B-08
2

3B-08

3B-08

a

b

3B-23

c

3B-23
10

3B-23

10 screws: 5 screws / strip

11

3B-08a

3B-08b



3B-14

a

+

3B-59

3B-14

1

1

b

c

3B-59

12



a

3B-20

3B-09

3B-20

3B-09

b

3B-20

3B-09

x

2

3B-20B 4

5-12-M4

5-16-M4

13

c d3B-20B

3B-59



3B-60 1

14

3B-60

C

b

3B-60

a

9.5

M4.2*19/8pcs



3B-24

3B-24
1

b

15

3B-24

a



control

box（Installed in

a waterproof box） power

supply

3-core

wire

2-core

wire

2-core

wire
3-core

wire

Wires DiagramWires Diagram

 Power in：220V

Power Out To

Motor： DC24V


	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x301
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x302
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x303
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x304
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x305
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x306
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x307
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x308
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x309
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x310
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x311
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x312
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x313
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x314
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x315
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x316
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x317
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x318
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x319
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x320
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x321
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x322
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x323
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x324
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x325
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x326
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x327
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x328
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x329
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x330
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x331
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x332
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x333
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x334
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x335
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x336
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x337
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x338
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x339
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x340
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x341
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x342
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x343
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x344
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x345
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x346
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x347
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x348
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x349
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x350
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x351
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x352
	VLL07单 2x2 2.5x2.5 3x2 4x2 3x3 4x353

